| N of associated (recoToSim) looper tracks vs dxy |

[\ of associated (recoToSim) tracks vs dxy |

N of reco track vs dxy

0 ]
£
Qe
[~ o
03 R
3
o —
— N o
= e —
o 2
H
8
o £ o
5 2
i H —_
o €
= [ i
| e H
LD o .
L idg
o F I
S| :
el H R (=]
& g QP
5 o o
z
sxoel areondnp H —
n o
He #
.:o o
HRS
. Wn o
R ~
oS
.io
= ©
= S >
B )
o o
i
o o
o = !
51 - 5 !
8 Lo N
< & o
- N
> o . )
> X ;
14 Ite] ] I
oy N o)
T ! (=) e g
s - <]
mf M
-
]
o — 3
8 Re @
o o O
7] [Sg
S = =]
....... g 28 s
ST
....... [Te) eet O ]
=3 Fhi ~ o
© hd e —
H [t} g
I £
m, o 8 o
o] o £
o @ o
g = HE : T
= b E :
i < . o
as | IR H I
=3 o = . : |
SH AN 3 H H
I bnnis d 3L 4 PR PP TP PP =
o > Sxl R =3 e o =) f
o < G o o o :
=1 - === ° 2 = =1 =1 A =]
=
syoel) ani EosH LJ syoenann
]
(>3
50|
n o
N = o
£
o O
QL
= o
23 S
3
o
S S
5 K
0
o o
n
[
o
o 3| o
T2
o
— b o
| @ N
2 5 )
) 3
PP T 9 2 Q
bul ]
‘© g 5 51
- Z (=}

syoen

syoen

track dz (cm)

track dz (cm)

track dz (cm)

track dz (cm)



	Contents
	Page 1


